—_——
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100Bg/ kg% X 5L D0
BREHEE

No BT EA HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 = [T ET R4.11.30 YRIF BREE9(<9.8) 185 19
2 = [T T R4.11.30 a9 (44 BRHET(<6.4) BRHET(<5.2) - Janpcc
3 FALIES] R4.12.1 Xory BRHET(<L3.7) BRHET(<3.9) - Janpcc N

BRBEECIBTA—REBEROREE 9L 100Bg/kg(t>HL-134, £ H L-13TDOEE(E)
HEEE: O L-134EEL D L-13TDEEEIZOVTIE., B F 24 (LN LIHTEZRIEREAL-LD) TRELTULET,




RERFE-A) VI RBERZRISOLVT(RERER -F7%)
(BAHIRRZEAEZRIZA T -T2 T REIZDLNT)

WEtEES S L
10G
100Bg/kgZ #8251 D0
BREHE
No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 = [EHT R4.11.30 avyr BREE9(<5.2) 4384 48
2 = [T T R4.11.30 Hho BREE9(<7.2) BREE3(<4.1) - Janpcac N
3 = [EET R4.11.30 RoLIYY BREE9(<7.2) 8.38 84
4 = [EET R4.11.30 Ho BREE9(<5.0) 8.60 8.6
5 = [EET R4.11.30 RoLIYY BREE9(<8.2) BREE9(<9.1) - Janpcac N
6 = [FET R4.11.30 Hho BREE3(<4.1) 6.83 6.8
7 K REHT R4.11.30 RoLIYY BRHET(<L5.0) BRHET(<6.2) BRHEY
8 K REHT R4.11.30 RoLIYY BRHEET(LT.1) BRHET(<48) BRHEY
9 K REHT R4.11.30 FoRy BREE9(<8.7) BREE3(<7.2) BRHEY
10 K REHT R4.11.30 ForRy BRHEET(<47) BRHE9(<5.2) BREEY

BREEEICBIT2—BESOEEE 9L :100Ba/kg(EHL-134, £LH L-13TDBEIE)
XKEEME: YV L-134EE I L-13TDOEEBEIZOVTIL, #2247 (LA SIHTEZHIEEALIZE M) TREBELTLET,
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